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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
questions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way. As
preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year's document should be avoided; whilst the guiding principles of

assessment remain constant, details will change, depending on the content of a particular examination
paper.

Further copies of this mark scheme are available from aga.org.uk

Copyright information

AQA retains the copyright on all its publications. However, registered schools/colleges for AQA are permitted to copy material from this booklet for their own

internal use, with the following important exception: AQA cannot give permission to schools/colleges to photocopy any material that is acknowledged to a third
party even for internal use within the centre.
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Section A Listening
Comprehension questions to be answered in target language but with no AO3 marks

Where the natural answer to a question consists entirely or partly of words or phrases from the
recording, students may use that material without rephrasing it. Minor spelling errors which do not distort
the meaning will be tolerated. However, the AO1 mark will not be awarded for a response in which the
student includes irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an
element from the original which does not match the phrasing of the question set.

Qu Accept Mark
01.1 p) 1
Qu Accept Mark
01.2 a 1
Qu Accept Mark
01.3 | 1
Qu Accept Mark
01.4 p) 1
Qu Accept Mark
015 p) 1
Qu Accept Mark
01.6 N 1
Qu Accept Mark
01.7 a 1
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Qu Accept Mark
01.8 N 1
Qu Accept Reject Mark
02.1 DOYUTIN N0 97 1
NIND DYWN WNNYD
D)1INNN DWTIN Yoy
Qu Accept Reject Mark
02.2 NN MIASNWN DI - 2

SNIWIA MIPNN

MDD ONYNN NPV -

DX97TIN DIV YD —
NP MNITO ,NINYIN OHON

.NAWNN 939 MBYan Yo

NTYN 25 AN -
TPIPNND

DNYY NMPNNDHNN NMODNINI 7oYYDY
,21¥02 YD 1A, MNOPN —
NN DNN0-, TN IDON NP
NN NTYN YPYSD MONINN
99921 9NN
DINOPNY PNIYND —
97122 DIPY N0 DXAPNND
MYNYN NYINN 0NY NNY -
DNV YDY VIPXa NNS NWIN
.DPNN
NN YN 2INAND PO -
TP9PNNI 99571 PN

TUNRNY NN DN PIYNY -
MNP DY MTTINNIN

ONIWIA NN
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Qu Accept Reject Mark
02.3 : , TN 3
Three of the following:
NONDN
mNoPN —
X2 72—
2w —
0N NPN —
Qu Accept Reject Mark
02.4 qo RN 1
9N NTID KA
N
/ IIPIINIAN PINONA YTHY NN "marnN non”
DNON /7 NIPR NMIND WHWNN
YOPNIND
Qu Accept Reject Mark
02.5 . 1
One of the following:
DY977IN DIV —
IR —
NP MNITO —
NNOWNN 999 Mbyan Hov —
Qu Accept Reject Mark
02.6 N9 NNN/NMOYN 0NN DY 1

Any of the following:

DMY2Y DOXROPND NPMIYN NNNN
NYIND 1IN 7 99122 OIPY ND
VNN DIPH NIMI 7/ NYTN MYHYN
N2 NTIAYN 7 DNOYW YN NN 12

/ TPAPNING 1957 YN NN ONY NN
TVNRND MND ONY NPIYN

NIV MINISHN OY MTTHINNNN

0P NN




MARK SCHEME — A-LEVEL MODERN HEBREW - 7672/3 — JUNE 2022

Qu Accept Mark
03.1 a,),n (in any order) 3
Qu Accept Mark
03.2 N )% (in any order) 3
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Summary questions

The marks for content (AO1) and language (AO3) are awarded independently. Long summaries will be
marked for content (AO1) or language (AO3) only as far as the first natural break (usually the end of a
sentence or main clause) between 90 and 100 words. Short summaries are not subject to an automatic
penalty but in practice are unlikely to include all the required content points and will therefore be self-
penalising.

The AO1 mark is awarded for content points which contain the required information, regardless of
whether those points are expressed in the student’s own words, or are partly or wholly lifted from the
recording. However, no AO1 mark will be awarded for a content point where the student includes
irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an element from the
original which does not match the phrasing of the bullet point. ‘Lifted’ language will not be eligible for
credit when the AO3 mark is awarded.

Minor errors are defined as those which do not affect communication .
Serious errors are defined as those which adversely affect communication.

Minor errors include:
incorrect but close to correct spellings
incorrect genders and consequential errors of agreement.

Serious errors include:

incorrect verb forms especially irregular forms

incorrect use of pronouns

missing or incorrect agreements of adjectives or past participles.

Complex language includes:

use of pronouns of all types.

tenses that support conceptual complexity

connectives supporting a range of subordinate clauses

constructions with verbs and verbs followed by infinitive with correct preposition (in all tenses).
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Mark | AO3 quality of language marks in listening and reading summary tasks

The language produced is mainly accurate with only occasional minor errors. The student
5 shows a consistently secure grasp of grammar and is able to manipulate complex
language accurately where required by the task.

The language produced is generally accurate, but there are some minor errors. The
4 student shows a generally good grasp of grammar and is often able to manipulate complex
language accurately where required by the task.

The language produced is reasonably accurate, but there are a few serious errors. The
3 student shows a reasonable grasp of grammar and is sometimes able to manipulate
complex language accurately where required by the task.

The language produced contains many errors. The student shows some grasp of
2 grammar and is occasionally able to manipulate complex language accurately where
required by the task.

The language produced contains many errors of a basic nature. The student shows little
1 grasp of grammar and is rarely able to manipulate complex language accurately where
required by the task.

0 The student produces nothing worthy of credit.
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Qu 04 Accept Reject Notes Mark
Two of the following: 'R DX IUXRY qna wim'y | The task requires
Mt /(1) 1947 7wpNa | -NAYY D097 DRNN students to
Bullet oy Ma/ (1) »I9a N Irgr?ghp;glzt,einclu ding
1 (1) yus transformation  of
direct speech into
opn indirect speech. As
Al such, answers 2
71 9pY containing first
MNNNN person direct
»Y) speech lifted from
(0>019 the text will be
rejected.
Three of the following: The task requires
DWW NI9W 5P XN NURI I3 VIY ~| students to
TAR ,1PNNN TN — (D9I1) NPDY DXNNN MR ON| manipulate
~Y2nn TANY P12 AT ANy Langufage, E[UdUdi”%
oy _| transformation o
5 : VOPLVIN VNN —| indirect speech. As
OPOVI OMNYNIN DNYVN WYY DN ININD STON such, answers
TeN INYY DWW TRN /(1) 2y 9IN D1 DN, DMWY containing first
b1pY aVIN NI NIND SN NMIN NYNN DNVIZY | person direct
- 1270 TY DY IRY? NLIY | AN ,7D7D2 TNY” — NINDN| speech lifted from
AnNmn (1) .y» PP NYRAN AR AN N the  text  will  be 3
A 7 M) 7PN NTITN N rejected.
oy PNOY PN OMIYV IV NN
e 95 TONNA N TINY Y OV
oY) M ,NANR DY 1IN .OPLN
(DY YNIANN N IMN ,0M
NV NN OY NN, THPNIA
NIN YD WON TUND OWHUN
MY NX Y OITININ ,NINNN
925V OMWYNRIN DMYYN
R51akiv)
Two of the following: :PUNI M | The task requires
— 12D OV IMIX 1210 13NN 2N DY 02N PN | Students to
Bu:,ilet 5y QT NIP NN/ (1) Axn | XY DWW 90N N1van D3N ggghp;éitemdudmg
> b )
> o /(1) Nppy ;:1335;3;\\;»39;3’::23’ transformation  of
DV | NNMPA N2V ATV DUYY - direct speech into
090 MNNOVA PN ND NODN |
/ (1) yrawn nwroan yopn indirect speech. As 2
5299 SPYN NAND,PINT NON h
mopy | DD 5¥ DaN PY WIN SUCt ’_ 3_‘”3";’??
containing firs
mynn | X21900 man man /(1) person di?ect speech
nVY) (1) 3 lifted from the text
(D019

will be rejected.




MARK SCHEME — A-LEVEL MODERN HEBREW - 7672/3 — JUNE 2022

Section B
Question 5 Translation (into target language)

Errors of spelling
Errors of spelling will not be tolerated.

Tense endings, irregular verb forms and adjective endings must be correct.

Errors of gender
Errors of gender will not be tolerated. Genders of nouns are clearly an area where guidance can
be provided in the passage that supports the translation task.

Alternative answers
Alternative answers offered by the candidate — even if one is in brackets — will be rejected unless
both answers are correct.

A successful translation
A successful translation is one which includes each element of the text to be translated and where
there is no omission or paraphrase.

Repeated errors
Where a candidate repeats the same error within a question, no further penalty will be imposed in
awarding the mark.

10



MARK SCHEME — A-LEVEL MODERN HEBREW - 7672/3 — JUNE 2022

Qu
The table below shows the type of answer that is acceptable for each section of the text.
5 : : . .
Award one tick per correct section then use the conversion grid to award a total of 10 marks.
Box English Accept Reject
1 The most important / 9MOND PINN /NN /7 NN 2DWYNN NINNNN
commandment N2VNN DTIPIN 7/ YMINRN IND
NIWN 20N INNNN 7/ NN
nooa3 noa by
2 on Passover
_ _ D195 99D 7 TN 7 1905 NN D199 7905 NN
3 is to tell the children
NN DY /7 DINND NNON DY DYINNN NNND DY
4 about the Exodus
DYINDND
5 | from Egypt.
6 | This year NN MY/ MYN mvAa
mwn
7 | some people will not be able NIND 1999 NIV DIWIN W) D919 XHY /7 9197 N
to host
NINNND N NINND
8 | orto be guests. DXNNIN NPIJ N NIND
DYINND N2
9 _ ATINND /7 ATINND TR WP N (NU NDD) 21ONM VP
It is hard and very TN
disappointing,
10 | but thanks to the MNNANND MTIN 7 MITIN DAN| LITOVINND MNNANNY NTIN DAN
development of the Internet, VITVINN
VYIVINN MNNANN MO YaN
11 | they can celebrate Seder on TS [ ey / amnY Twan O YY 9170 970 "OnRY
‘Zoom’,
/ »©1ra 719/ Zoom -2 970
97 NN/ 0912 onN /[ on
o PR PRI
12 | and invite
13 | all the extended family / NANINN NNAWNN DD NN NOYIND NNOWNN

NPINT /DY 7 NANIN

11
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14 | to participate in it nenY /7 PoN NNPS 7 (1) aNNYND NANNYN/OXNNYN
7on
PN VOV / PININ DPINI
15 | remotely.
16 | Here are some tips MY /70907 19010 / NN MN
95) DT NN W/ NN
(D20 5y MMV DM
TV 7 WYY PR NN / NNY /51N
17 | on how to have
18 | a successful Seder on ‘Zoom’. 1OV NONIN VTO (YD) DN DY 71T NONN ITO
791’2 20 1707 Zoom
19 | You should: ANDNY MDY MNNNN) WrIong 129yn D37 N1
set the table early 51197 DY NIYNNNT instruction
/ D2’ DNN / DY INTI/ONTD
NIV AR ATOD 7 TIYD PIN /W)
oTPM
20 make sure everyone / DOV MINIY / PTT:lb / NTNY ML VYN
D215V NMVINY)
21 | is dressed in festive clothes DN D>TX22 XN 1THA(2) OIS 52>009 > DOV
DY /7 DMIN DXTH2 OXVWIAN
22 | before the meeting begins / 2NN VI / NWINY N9 2NNN NDWIN N9
2>NNN ITONY
NYIPY P 2IVWN 7/ NN P NRIPY
23 | read only the
24 | important parts of the story / DMIPOYN /7 DWNN DYPYNN 1WNN NP PON
TNYONN / 2 DM
25 | sing one of your favourite NDAMN YPYN TR DX PYI| NN YD 7/ NDID TR PY YO
7 DYYY DN D210 Y9N DX PYN ThN
7N DNRY DYPYNN TN YY)
DXPY / NDAIPY 7/ NDAD DIIANIN
NoaY
-1 - -
26 | Passover songs
_ NNRY NDS 1D /7 THNY 7 SNND NNY NDY NP
27 | wish a happy Passover
28 DOV 7 MININND TIHNDY 7 I wrong instruction

and say goodbye

12
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29 | turn off phones / ©MAZV(N NN) MO /7 MIAJ INO DOVO
DIMNANDI
_ ] 2PN M AN PIYTND MM NN O / PRAN
30 | and light the festival candles.

Conversion grid
Number of ticks Mark

28-30 10
25-27 9
22-24 8
19-21 7
16-18 6
13-15 5
10-12 4
7-9 3
4-6 2
1-3 1
0 0

Section C
Multi-skill task Question 6

Assessment objectives 1, 2 and 3

Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There is one mark in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1: Determine a level

13
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Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2: Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’'s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
Assessment criteria

Each assessment objective should be assessed independently.

Students are advised to write approximately 200 words per essay. Everything that students write must

be assessed; there is no word limit. Students writing the recommended length have access to the full
range of marks.

14
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Assessment Objective 1

Mark AO1
Very good evaluation of the source

9-10 | The relevant information from the spoken source material has been fully understood.
Arguments/views are very effectively summarised and there is extensive evidence of
drawing appropriate conclusions.
Good evaluation of the source

7—8 | Most of the relevant information in the spoken source material has been clearly
understood. Arguments/views are effectively summarised and there is frequent evidence
of drawing appropriate conclusions.
Reasonable evaluation of the source

5-6 | Some of the relevant information in the spoken source material has been understood.
There is some evidence of summarising arguments/views and of drawing appropriate
conclusions.
Limited evaluation of the source

3-4 | Alimited amount of relevant information in the spoken source has been understood.
There is limited evidence of summarising arguments/views and of drawing appropriate
conclusions.
Very limited evaluation of the source

1—2 | A very limited amount of the relevant information in the spoken source has been
understood. There is rarely evidence of summarising arguments/views and of drawing
appropriate conclusions.

0 The student produces nothing worthy of credit.

15
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Assessment Objective 2

Mark AO2

Very good evaluation of the source

9-10 | The relevant information from the written source material has been fully understood.
Arguments/views are very effectively summarised and there is extensive evidence of
drawing appropriate conclusions.

Good evaluation of the source

7—8 | Most of the relevant information in the written source material has been clearly
understood. Arguments/views are effectively summarised and there is frequent evidence
of drawing appropriate conclusions.

Reasonable evaluation of the source

5-6 | Some of the relevant information in the written source material has been understood.
There is some evidence of summarising arguments/views and of drawing appropriate
conclusions.

Limited evaluation of the source

3—4 | Alimited amount of relevant information in the written source has been understood. There
is limited evidence of summarising arguments/views and of drawing appropriate
conclusions.

Very limited evaluation of the source

1—2 | A very limited amount of the relevant information in the written source has been
understood. There is rarely evidence of summarising arguments/views and of drawing
appropriate conclusions.

0 The student produces nothing worthy of credit.

16
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Assessment Objective 3

Mark

AQO3

9-10

The language produced is mainly accurate with only occasional minor errors. The student
shows a consistently secure grasp of grammar and is able to manipulate complex
language accurately. The student uses a wide range of vocabulary appropriate to the
context and the task.

7-8

The language produced is generally accurate, but there are some minor errors. The
student shows a generally good grasp of grammar and is often able to manipulate complex
language accurately. The student uses a good range of vocabulary appropriate to the
context and the task.

The language produced is reasonably accurate, but there are a few serious errors. The
student shows a reasonable grasp of grammar and is sometimes able to manipulate
complex language accurately. The student uses a reasonable range of vocabulary
appropriate to the context and the task.

The language produced contains many errors. The student shows some grasp of
grammar and is occasionally able to manipulate complex language accurately. The
student uses a limited range of vocabulary appropriate to the context and the task.

1-2

The language produced contains many errors of a basic nature. The student shows little
grasp of grammar and is rarely able to manipulate complex language accurately. The
student uses a very limited range of vocabulary appropriate to the context and the task.

The student produces nothing worthy of credit.

17
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Minor errors are defined as those which do not affect communication.
Serious errors are defined as those which adversely affect communication.

Minor errors include:
incorrect but close to correct spellings
incorrect genders and consequential errors of agreement.

Serious errors include:

incorrect verb forms especially irregular forms

incorrect use of pronouns

missing or incorrect agreements of adjectives or past participles.

Complex language includes:

use of pronouns of all types.

tenses that support conceptual complexity

connectives supporting a range of subordinate clauses

constructions with verbs and verbs followed by infinitive with correct preposition (in all tenses).

Indicative content:
AO1 Listening AO2
Reading

Adi’s Successes

» Adi’s success can be seen in the fact that she established a youth movement ‘Knafayim Shel Crembo
at only 16, and today there are activities in many places in Israel. (AO2, AO1)

* She was one of 12 chosen to receive a prize from the President. (AO1)

* The movement is an inspiration to the whole world. (AO1)

» Adi continued onto a different social entrepreneurial project which integrates school students with
special education students. (AO1)

Challenges

» Adi describes what she had to give up when running the movement ‘Knafayim Shel Crembo’: She
couldn’t meet friends when they went out in the evenings as she had to tend to her voluntary job.
(AO2)

» She says she was constantly worried while running the movement that if she stops, it will cease to
exist. (AO2)

» She spoke of the tremendous responsibility she had on her shoulders. (AO2)

» She suffered physical pain. (AO2)

» She felt she had to go on holiday to properly rest. (AO2)

» She received criticism from people who claimed the children should be the ones getting the prize.
(AO1)

Evaluation — Should the President have given the honour to a child with disabilities?

* It could be argued that as some citizens explained, the children of ‘Knafayim Shel Crembo’ don’t need
someone else to represent them. (AO1)

* The children themselves have contributed to society by joining a youth movement that integrates
children with and without disabilities. (AO1)

+ Adi was the one who brought the children together and helped them create social connections and to
integrate in society. (AO1)
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